Test Bank                    Chapter 1:  Introduction and Overview                           ESF
I. True or False (Definitions and Concepts)

T
1.
The area of investments examines financial transactions from the viewpoint of investors outside the firm.

T
2.
Financial securities are contracts that provide for the exchange of money.

F
3.
The balance sheet identity states that Total Assets equals Liabilities minus Stockholders’ Equity.

(FALSE: Should be plus instead of minus.)
F
4.
Equity contains a legal obligation to repay borrowed money.

(FALSE: Should be Debt instead of Equity.)

T
5.
The investment-vehicle model of the firm implies that managers should maximize shareholder wealth.

F
6.
In a partnership, a single individual owns all the firm’s assets directly and is directly responsible for all its liabilities.

(FALSE: Should be sole proprietorship instead of partnership.)
F
7.
Limited liability means you can lose more than what you have paid for your ownership in a firm.

(FALSE: Should be cannot lose instead of can lose.)
T
8.
Shareholder wealth maximization focuses the profit motive squarely on the owners.

T
9.
Capital markets are markets where financial securities, such as stocks and bonds, are bought and sold.

T
10.
The field of finance is influenced by major economic needs of the time.

II. Multiple Choice (Definitions and Concepts)

a
11.
The decision rule in finance proclaims that you should purchase an asset if it is worth         .


a.
more than it costs


b.
more than it can be maximally sold for

c.
less than it costs

d.
all of these

d
12.
There are three primary areas of corporate finance. Which of the below is (are) included among these three areas?

a.
corporate financial management


b.
investments


c.
financial markets and intermediaries


d.
all of these
b
13.
Corporate financial management is best described as focusing on         .

a.
the asset side of the balance sheet

b.
how a corporation can create and maintain value

c.
maximizing sales

d.
none of these
a
14.
The investment decision best addresses which of the following questions?


a.
Should we buy new equipment?

b.
Should debt be short-term?

c.
Should we borrow in a foreign currency?

d.
Should we increase our advertising budget?
b
15.
The financing decision best addresses which of the following questions?

a.
Should we buy this piece of land?

b.
Should we issue common stock or convertible debt?

c.
Should we increase our inventory?

d.
Should we give employees stock options?
d
16.
The managerial decision best addresses which of the following questions?

a.
How fast should we grow?

b.
What size of firm do we want?

c.
How should we compensate our managers?

d.
all of these
a
17.
Which of the following forms of ownership are purchased in the capital markets?

a.
stocks

b.
bank debt

c.
computer equipment

d.
research and development
c
18.
Financial intermediaries purchase financial securities in order to        .

a.
immediately resell them

b.
give them away

c.
hold them as investments

d.
none of these
d
19.
Which of the following statements is true?

a.
Finance is not a science.

b.
Finance is not an art.

c.
Finance is the same as accounting.

d.
Finance has fundamental concepts, principles, and theories.
c
20.
Which of the following statements best describes an asymmetric information problem?

a.
Managers and owners are privy to the same information.

b.
Executives and customers both know that flip-flops can be made cheaply.

c.
Insiders know that the market tests are favorable but investors do not.

d.
Every investor who shares in the interest payment of debt also shares in the dividend payment of stock.
c
21.
Finance uses models. Which of the following statements about modeling is false?

a.
Modeling is a method of describing reality.

b.
Modeling can be used to specify relationships.

c.
Modeling is never useful in predicting outcomes.

d.
both a & c are false
a
22.
Which of the following statements best describe the difference between finance and accounting?

a.
Accounting generally has an historical outlook, while finance considers the future.

b.
Accounting focuses on making decisions, while finance tries to determine value.

c.
Accounting asks questions like “Where do we go from here?”, while finance asks questions like, “What do we do now?”

d.
Finance wants to know what happened yesterday, while accounting wants to know what happened today.
a
23.
Which of the following statements about a stakeholder is true?

a.
A stakeholder is a person who has a legitimate claim on the firm.

b.
A stakeholder is a person who does not have a claim on the firm’s cash flows.

c.
A stakeholder is someone who does not collect dividend payments.


d.
A stakeholder is any former employee of a company.
b
24.
A primary motive for starting a company is         .

a.
to control voting shares

b.
to earn money

c.
to get perks

d.
both a & c are correct
d
25.
A firm’s capital structure can consist of         .

a.
common stock

b.
preferred stock

c.
various types of debt

d.
all of these
c
26.
A firm seeks out a banker and obtains a loan. Which of the following is true?

a.
The bank will listen even though its primary motive is not to make money.

b.
The bank can lend money to the firm but will not have to share in the firm’s risk.

c.
The bank will demand interest payments if it agrees to loaning the firm money.

d.
both a & c are correct
c
27.
Which of the following statements is true?

a.
A company that hires more employees will change its balance sheet.

b.
A company that hires more managers will change its balance sheet.

c.
An all-equity company that issues debt will change its balance sheet.

d.
A company that alters its board of directors will change its balance sheet.
c
28.
Which of the following would not create risk-sharing for Acme Inc.?

a.
New debtholders are added.

b.
More bank loans are taken out.

c.
Acme announces a two-for-one stock split.

d.
Acme issues more shares.
d
29.
If Tom Brown decides to lower his ownership proportions in his company, Brown & Sons Co., by selling new shares then which of the following can result?

a.
Tom can lose control of the voting.

b.
Tom is more likely to spend company money on his personal needs.

c.
Tom’s interests will be less aligned with the wealth maximization of the company.

d.
all of these
c
30.
Which of the following statements is true?

a.
The investment-vehicle model views the firm from the viewpoint of managers.

b.
The set-of-contracts model represents the firm as a set of financial statements.

c.
The set-of-contracts model views the firm as a set of contracts among its various shareholders.

d.
The investment-vehicle model views the firm from the viewpoint of debtholders.

a
31.
Which of the following statements is false?

a.
The investment-vehicle model views the firm as a set of financial statements.


b.
The accounting model represents the firm as a set of financial statements.


c.
The set-of-contracts model views the firm as a set of contracts among its various shareholders.


d.
The investment-vehicle model views the firm from the viewpoint of stockholders.

b
32.
Which of the following (if any) is an advantage of the accounting model?

a.
It is an historical model.

b.
It is highly integrated, showing how the pieces fit together.


c.
Its language is not widely familiar.

d.
none of these
b
33.
The set-of-contracts model         .

a.
is a refinement of the accounting model

b.
recognizes the imperfections that can arise in the contracts among the firm’s many stakeholders

c.
does not contain explicit contracts

d.
does not contain implicit contracts
d
34.
Explicit contracts include such things as         .

a.
outstanding guarantees on previously sold products

b.
severance agreements for terminated employees

c.
pension obligations

d.
all of these
b
35.
Which of the following statements describe a dividend right?


a.
Shareholders have the right to vote on the election of directors.


b.
Shareholders get an identical per-share amount of any dividend.


c.
Shareholders have the right to a proportional share of the firm’s residual value in the event of liquidation.


d.
Shareholders have the right to subscribe proportionally to any new corporation stock offering.

d
36.
Which of the following is not an example of a contingency claim?

a.
You receive a bonus if your department’s sales exceed $10 million.

b.
The company matches your pension contribution up to five percent of your salary if you work for the company a minimum of five years.

c.
Creditors liquidate a company’s assets if payments are not made.

d.
You will receive $5,000 in inheritance now that your uncle has died.
c
37.
You are sole owner of a business. This business is called         .

a.
a corporation

b.
a partnership

c.
a sole proprietorship

d.
a limited partnership
a
38.
The business formed by two or more individuals is         .

a.
a partnership


b.
a sole proprietorship

c.
a barber shop operated by one barber

d.
none of these
d
39.
Which of the following is a disadvantage of a corporation?

a.
limited liability

b.
transferability of ownership

c.
better access to external sources of capital

d.
can be double taxation of income
c
40.
Which of the following statements (if any) best describe a liquidations right in the event of liquidation?


a.
Shareholders have the right to choose which managers will be involved in the liquidation.

b.
Each shareholder gets the same dollar amount of any payout.


c.
Shareholders have the right to a proportional share of the firm’s residual value.


d.
none of these
a
41. 
Which of the following statements describe a voting right?


a.
Shareholders have the right to vote on certain matters, such as the annual election of directors.


b.
Shareholders get an identical per-share amount of any dividend.


c.
Shareholders have the right to a proportional share of the firm’s residual value in the event of liquidation.


d.
Shareholders have the right to subscribe proportionally to any new corporation stock offering.

c
42.
Which of the following statements describe a preemptive right?


a.
Shareholders have the right to vote on a merger.


b.
Shareholders get an identical per-share amount of any stock dividend.


c.
Shareholders have the right to subscribe proportionally to any new corporation stock offering.


d.
Shareholders have the right to a proportional share of the firm’s residual value in the event of liquidation.

b
43.
Which of the following is a reason why profit maximization is not an operational goal?

a.
Profit maximization is clear.

b.
Profit maximization ignores differences in when we get the money.

c.
Profit maximization considers risk differences between alternative courses of action.

d.
Profit maximization considers differences in the time value of money.
d
44. 
Which of the following is a reason why profit maximization is not an operational goal?


a.
Profit maximization is vague.


b.
Profit maximization ignores differences in when we get the money.


c.
Profit maximization ignores risk differences between alternative courses of action.


d.
all of these

a
45.
Which of the following statements is false?

a.
Shareholder wealth is based on the past cash flows that have already come to shareholders.

b.
Shareholder wealth depends explicitly on the timing of future cash flows.

c.
By maximizing shareholder wealth, we are directly addressing the problems of profit maximization.


d.
Shareholder wealth is based on the future cash flows that are expected to come to shareholders.

d
46.
Which of the following has (have) changed business into a global marketplace?

a.
lower trade barriers

b.
cheaper and more dependable transportation

c.
instantaneous electronic communication

d.
all of these
d
47. 
Which of the following have transformed business into a global marketplace?


a.
stiffer trade barriers


b.
less costly and more reliable transportation


c.
instantaneous electronic communication


d.
both b & c are correct
d
48.
Current significant trends in finance include         .

a.
globalization

b.
computerization and telecommunications

c.
restructuring of the business environment and workplace

d.
all of these
a
49. 
People cannot expect their jobs to be secure. For example, during a period in the early 21st century, Fortune 500 corporations         .

a.
laid off over five million workers

b.
laid off about five thousand workers causing these workers to either wait to be rehired or look for new jobs

c.
stopped paying dividends

d.
never laid off anyone who really wanted to work
d
50. 
During the “dot-com” craze         .

a.
people who bought and held shares in “dot-com” companies made tons of money by holding their share for over two years


b.
investors collected on huge dividend payments


c.
investors did not experience losses due to bankruptcies


d.
none of these

III. Multiple Choice (Problems)

Not applicable for Chapter 1
IV. Longer Problems
Not applicable for Chapter 1

V. Short Answers
51.
What is the field of finance concerned with?
The field of finance is concerned with acquiring, investing, and managing capital. tc \l2 "Historical DevelopmentIn the late 1950s, finance became a science, and endeavored to understand the causes and consequences of financial transactions. Most recently, finance has focused on efficient contracts that achieve the various participants’ objectives.
52.
What are the three basic areas of finance? Briefly describe the area this course focuses on?
The three basic areas of finance are corporate finance, investments, and capital markets and financial intermediaries. In this course, we study corporate finance which focuses on how a firm can create and maintain value through proper decision-making in regards to such concerns as capital budgeting, capital structure, working capital and dividends.
53.
Name four basic stockholder rights.
The rights of stockholders include dividend rights, voting rights, liquidation rights, and preemptive rights. The right to vote is what distinguishes stockholders from other stakeholders in the firm.
54.
What is limited liability?
Limited liability means that shareholders are limited in their losses. These losses cannot exceed the original amount of money they invested. Proprietorships and partnerships have unlimited liabilities because they can lose not only the amount of money invested in the enterprise but can also lose additional wealth including one’s personal belongings.
55.
What is the goal of a firm?
The goal of a firm is to maximize shareholder wealth by focusing on the future cash flows of the firm. In a "perfect" world (one without owner-manager conflicts) maximizing shareholder wealth is the theoretically correct managerial goal. Because of this, the investment-vehicle model is the best starting point for analyzing financial decisions.
VI. Essays or Longer Answers
56.
Trace the steps involved with the increase in the value of eBay. How do you explain this increase?

Pierre Omidyar founded eBay. He put up $14,262 to support his entrepreneurial idea about developing an internet auction place. The idea proved successful and investors were interested in owning a piece of eBay. This interest enabled eBay to raise capital and increase its value.

Eventually eBay went public selling its shares to investors in an initial public offering (IPO). Investment bankers helped with the IPO recommending details such as the number of shares and the price per share. The IPO was successful with the stock price skyrocketing. Shortly after its IPO, the market value of eBay was over two billion dollars. Pierre Omidyar maintained enough shares so that his value was over $700 million dollars at about this time. Most recently, eBay was valued at nearly nine billion dollars.
The meteoric rise of eBay and its market value can be explained in several ways. First, the idea was a good idea. A service was offered that was originally well received and continues to be well received. Second, the timing was good. There was an overwhelming investor demand for “dot-com” stocks during this time. However, unlike many “dot-com” stocks, the idea associated with internet auction was based on real demand and was not simply the result of the investor mania that treated all internet stocks as “good” investments even if the earning numbers were lacking or simply unknown.
57. 
Finance has three main areas: corporate financial management, investments, and financial markets and intermediaries. Briefly explain these three areas.

The area of corporate financial management focuses on how a corporation can create and maintain value. Its decisions fall into three major categories: investing decisions, financing decisions, and managerial decisions.
Investment decisions reflect the left-hand side of the balance sheet and determine what assets a firm invests in. Financing decisions address the right-hand side of the balance sheet and determine how the firm will obtain money. Managerial decisions include the firm's day-to-day operating and financing decisions (e.g., the granting of customer credit, the amount of advertising, and managerial and employee compensation).
The area of investments studies financial transactions from the viewpoint of investors outside the firm. Investors provide funds when they invest in (buy) financial securities, such as stocks and bonds. Formally, financial securities are contracts that provide for the exchange of money at various times.

The area of financial markets and intermediaries explores the firm's financing decisions from third parties such as broker and dealers. Financial or capital markets are markets where financial securities, such as stocks and bonds, are bought and sold. Some market participants, like brokers and dealers, facilitate the purchases and sales of securities by other parties. They charge fees or commissions for their services. In contrast, financial intermediaries buy financial securities such as stocks and bonds of other firms but, rather than reselling them, they hold them as investments.
58.
Asymmetric information refers to a situation where one party knows something that another party does not know. Does this situation exist for companies? Briefly explain.
Yes, asymmetric information can exist for companies. To illustrate, it can exist between insiders and potential investors. Insiders are privy to information that is not known to the public. Investors can only glean information from public sources such as annual reports. Insiders can reveal information (either good or bad) about a company through their decisions and actions. For example, increasing the company’s dividends can signal positive news about the firm’s future expected cash flows while decreasing dividends signal negative news.
Other recognized situations for which asymmetric information can exist include that between managers and shareholders (where managers are privy to inside information that shareholders do not have) or between shareholders and debtholders (where shareholders are privy to information that debtholders do not have).

59.
Name and briefly explain the three different views of the firm.

The most basic view of the firm is the investment-vehicle model. In this model, investors provide funds in exchange for financial securities (which are contracts that provide for the exchange of money at various points in time). The goal of this model is embodied in the proposition that managers should maximize shareholder wealth (e.g., by maximizing the value of its securities).

The accounting model is a model that views the firm from an asset side (investment decisions) and a financing side (liabilities and stockholders' equity). This model is primarily a historical view of the company. It avoids information that cannot be captured by financial statements.
The set-of-contracts model of the firm refines the investment-vehicle model by recognizing imperfections arising in relationships among groups that have self-interest in the firm's existence. Participants in the company's well-being enter into contracts involving contingent claims where an outcome depends on a certain performance or result. For example, if bondholders do not receive their interest and principal payment, then they can perform actions that cause the firm to liquidate assets.
60.
Name and briefly describe the four basic forms of business ownership.
The four basis forms of business ownership are: sole proprietorship, partnership, corporation, and limited liability company.

A sole proprietorship is an individual ownership of a firm's productive assets in which the owner has unlimited liability. The sole proprietorship’s personal wealth is at risk.
A partnership involves more than one owner. Like a sole proprietorship there is typically unlimited liability. The partners share in profits and losses.
A corporation allows many owners to share in a firm's operations but with limited liability. These owners have dividend rights, voting rights, liquidation rights, and preemptive rights. However, its income can be taxed at both the corporate and individual level (called double taxation).
The limited liability form has recently emerged as a viable alternative to the corporate and partnership forms. It offers limited liability, like a corporation, but is normally taxed like a partnership (thus avoiding double taxation).
